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Al 745,000
401 A& HIZ 201 8] 3,510,000 5,428,000 21,918,000
& 2,450,000
< 315,000
Al 745,000
01 A& HI 3,340,550 5,167,715 A 1,827,165
N2 2 HE=X A
10,000,000& * 14l 10,000
N EZE 2 LAY A&
3,330,550,000& * 14l 3,330,550
= 2,338,000
< 300,600
Al 691,950
02 2teldl 160,000 250,000 290,000
Of4dXclzstda ZL8AY Zeldl
160,000,000 * 14 160,000
& 112,000
< 14,400
Al 33,600
03 Al S HHI 9,450 10,285 A 835
OR&XclZstd & ZHAY R0l
9,450,000& * 14! 9,450
SEETA2AAE(F) 3,215,000 0 3,215,000
& 700,000
< 315,000
Al 2,200,000
403 MtXISHE X201 E 3,215,000 0 3,215,000
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< 315,000
Al 2,200,000
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3,215,000,000& * 14 3,215,000
= 700,000
< 315,000
Al 2,200,000
Z=X& 1,550,382 950,640 599,742
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Al 1,042,203
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01 At 22l ] 4,200 3,700 500
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70,000 = 10 * 23| 1,400
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60,000,000& * 1EHXl 60,000
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Al 35,000
OXg=2sd ARIFE AdHH(2H)
25,000,000& * 1H 25,000
& 7,500
Al 17,500
NA 2SS R2Y(Z) 10,000 20,000 A 10,000
< 5,000
Al 5,000
307 glz2tol & 10,000 20,000 A 10,000
< 5,000
Al 5,000
02 RIZHENEXS 10,000 20,000 A 10,000
OXNEZatAgY 28 TAY
10,000,000& * 14l 10,000
< 5,000
Al 5,000
J=0=ds & sl (2) 50,360 50,360 0
= 25,180
< 7,554
Al 17,626
307 glz2tol & 50,360 50,360 0
= 25,180
< 7,554
Al 17,626
02 QItFAE XS 50,360 50,360 0
O=ZAZ0 0 =Z ALK& AL
50,360,000 * 14l 50,360
= 25,180
= 7,554
Al 17,626
SN2 SEH(Z) 7,800 7,800 0
= 1,500
Al 6,300
307 glz2tol & 7,800 7,800 0




2H: 230
HH: ZoM=TE(2L2Z/Es0s)
¢ 2o=sXE (chel & 9l)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 1,500
Al 6,300
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< 1,500
Al 6,300
232 (T) 12,000 12,000 0
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Al 10,000
307 21201 A 12,000 12,000 0
< 2,000
Al 10,000
02 RIZHEANEXS 12,000 12,000 0
O=23stn 23 XA 6,000,000& = 20H A 12,000
< 2,000
Al 10,000
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< 1,300
Al 3,700
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< 1,300
Al 3,700
02 QItFAEXZ 5,000 5,000 0
Oszud 24 5,000,000& = 14! 5,000
< 1,300
Al 3,700
OJASIH AL ARXA(E) 30,000 30,000 0
< 9,000
Al 21,000
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< 9,000
Al 21,000
02 QB AEXS 30,000 30,000 0
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< 9,000
Al 21,000
SR EAMSXA(R) 287,622 223,440 64,182
J| 204,798
< 24,847
Al 57,977
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< 24,847
Al 57,977
02 RIZHEANEXS 287,622 223,440 64,182
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Al 100,000
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=} 15,000
Al 25,000
SHSES2U 3 19,000 0 19,000
307 QI2t0| ™ 19,000 0 19,000
04 QI2tHAIE X = 19,000 0 19,000
Osds g ZEE2ZHAUI
19,000,000& * 13| 19,000
A ROl = HI 50,000 0 50,000
307 2iz2to| A 50,000 0 50,000
04 QIZ2tSHALE X 2 50,000 0 50,000
OM218 AYH=H(EXE 80%)
50,000,000 * 13 50,000
A BHESHAH 60,000 0 60,000
307 2Iz2to| & 60,000 0 60,000
04 QIZ2tSH AL X 2 60,000 0 60,000
OXMI283 ACHE3HA 60,000,000& * 13| 60,000
N=2FH YA 15,000 0 15,000
307 2iz2to| A 15,000 0 15,000
04 QIZtSHALE X 2 15,000 0 15,000
ON=Z2 SHYWAZ NE(EXE 90%)
15,000,000& = 13l 15,000
ZENCHH S AKX 10,000 0 10,000
307 2iz2tol & 10,000 0 10,000
04 QIZ2tSH AL X 2 10,000 0 10,000
OBXHE Y SHAXN(BEEZS 67%)
5,000,000& = 13 5,000
OB 23HAIXNF(EZE 67%)
5,000,000& = 13l 5,000
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307 2Iz2t0| & 100,000 0 100,000
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Al 70,000
02 It A8 X2 100,000 0 100,000
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< 30,000
Al 70,000
AEHHSSEENA(Z) 15,000 0 15,000
= 4,500
Al 10,500
307 glz2+ol & 15,000 0 15,000
= 4,500
Al 10,500
02 QItFAEXZ 15,000 0 15,000
OZ= HdH23 =28 A
15,000,000& * 14l 15,000
< 4,500
Al 10,500
EWEN 2 HS(2L2Z/28M) 4,870,960 4,943,064 AT2,104
= 684,400
J| 644,622
< 818,616
Al 2,723,322
S EstMatel 4,778,760 4,795,864 A17,104
= 684,400
J| 644,622
< 775,016
Al 2,674,722
=t 2& ¥ EFH| 1,439,516 859,712 579,804
101 @14 Hl 7,503 6,999 504
04 JIZHHZ2Z2XRHEE S 7,503 6,999 504
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41,6802 * 3H » 22 x 30H A 7,503
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01 At 22/l 39,389 64,349 A24,960
O3t s A5 52 L W
0,000& * 5004 & 1,000
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OFstM JIEEE S A8 ME 23
500& =+ 1,0000H 500
O24Z 23 M ZeltiE MAl
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O MAE ME310=
2,000,000& * 244 = 53 20,000
Oz=&ggu RN
21,850& * 7,320m * 33/1,000 5,279
02 =224l 31,794 133,644 A 101,850
OSZ2s ®IIGHAA +42
55,000& * 5004 & 2,750
O2X2stM tAANE AFHTAL =2
20,000 = 250 & 500
OS3M 2579 5¥4+48
100,000& = 102Xl = 53l 5,000
Ozsgu =X &4 & 22E+ HIIM
== 100,000& * 128 1,200
OZ24dUZaE H2s MIIANES
50,000& = 12& 600
O3SAMZF st&E4d dIIAMEZ 50,0008 * 128 600
OSZNEE SRESHAZ HIIANEZ
150,000& * 122 1,800
ORH0IS A8+ U MEES HIIANER
200,000& = 123 2,400
OHEA L8AIE MIIANEE
100,000& * 122 1,200
OR4A ETHAIAE HIAEZ
100,000& * 12& 1,200
O=RH0I2 JI2sS MIIMNEE
150,000& * 122 1,800
Obt=3d IJt2s MIIAEZE 150,000& * 122 1,800
OREIHAEZ (IIECICIHAEEA)
6,000& * 20 * 123 144
OHMg=Z =8 Jt28 ¥ MIMEBE
300,000& = 12& 3,600
O2axNE LTAIAE SIHAERZ
200,000& = 123 2,400
O AA HTHAIAE AR
200,000 = 12& 2,400
OHEAMN LTAIAE AR
200,000& = 12& 2,400
207 O H] 72,000 0 72,000
01 284 72,000 0 72,000
OS2 MAE A&z &HY
20,000,000 * 34l 60,000
OXNE=aN S&83E s8I &Y
6,000,000& = 24! 12,000
301 et d = 6,960 6,840 120
09 SALAHIEA S 960 840 120
O23tMH 2+& A Ot
80,000& = 39 = 2 « 23| 960
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300,000& = 1¥ » 12&8 3,600
—gEs BRE 9 P4 B2 g
50,000& = 4%¥ « 12& 2,400
307 21201 A 88,200 56,200 32,000
02 B AEXS 88,200 56,200 32,000
OgW S A XNA(BEZE 90%)
500,000& * 6 * 23] 6,000
OFAIIEE E5 ¥ &2l (B8 90%)
600,000& = 123 7,200
ORA&AN 282 29H NA(EES 90%) 43,000
— Q1A (8H0IlAF)  2,300,0008 = 1 + 10& 23,000
- &=z 2,000,000& = 10& 20,000
OdF dS0tE2 JA230l tHet =AF & &
- A 30,000,000& * 14l 30,000
Oti=&eidl Ml XI& 1,000,000& * 1JH A 1,000
O=4dUiz 2E Ml XA
1,000,000& = 10H A 1,000
401 Al Bl 28I 1,193,670 590,000 603,670
01 A& HI 1,192,590 590,000 602,590
O=3M etlE &X 2,000,000& * 1090 A& 20,000
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OALMATAMME SGAY BHYEX HS
500,000,000 * 14 500,000
O=R40t2 =t 01y A
200,000& = 20m" » 20 80,000
OO0ILtAJE0IE SEAAEY 512,590
— EXI0HHI(10,203m)
318,410,000& * 14 318,410
— 2S00 (52) 192,150,000 * 14l 192,150
— JIEHOR B (124) 2,030,000& * 14 2,030
ORHL0tE LaHelAld2e ¥ SFNE>
30,000,000& = 13l 30,000
03 Al S THHI 1,080 0 1,080
OZSZsHE =AY
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O=24&0t2 =2t 01y 2aJ|
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[ 466,500
Al 343,500
401 AlEHIZL £ 0HY| 500,000 620,000 A 120,000
< 265,000
Al 235,000
01 Al&H| 495,500 617,300 A 121,800
OYZE SYBA FHIHI(01Y)
100,000,000& = 14 % 99.1/100 99,100
== 64,415
Al 34,685
OYHEAM THAF 2 =101 D]
90,000,000 = 14! %= 99.1/100 89,190
== 44 /595
Al 44,595
OB0t=I =HAHH|
30,000,000 = 14! %= 99.1/100 29,730
& 14,865
Al 14,865
Og9zx&n HWEE F=HAH|
50,000,000 = 14! %= 99.1/100 49,550
& 24,775
Al 24,775
O=&&n FHAEY|
96,000,000 = 14! %= 99.1/100 95,136
& 47,568
Al 47,568
OR2E FLIEH B
80,000,000 = 14! %= 99.1/100 79,280
& 39,640
Al 39,640
OLANE SAHNM B
54,000,000 = 14! %= 99.1/100 53,514
& 26,757
Al 26,757
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OYFE SUEA =THAEH|I(0])
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50,000,000 = 14! %= 0.90/100 450
& 225
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Of3& FyIY 24
80,000,000 = 14! %= 0.90/100 720
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ORUNY SHH 24
54,000,000 = 14! %= 0.90/100 486
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402 SI2FXHE0| & 310,000 200,000 110,000
[ 201,500
Al 108,500
01 QX2 X 310,000 200,000 110,000
OMIUE MEXA 252 HE(01Y)
160,000,000& * 14! 160,000
& 104,000
Al 56,000
OXUAF =HHH(01) 150,000,0008 * 1Al 150,000
= 97,500
Al 52,500
Z2IXNE L2} MES(2) 722,000 1,710,000 A 988,000
= 505,400
o= 64,980
Al 151,620
401 Al HI L 2 THHI 222,000 162,000 60,000
= 155,400
o= 19,980
Al 46,620
01 Al& H| 220,560 160,920 59,640
Os%M2 2oty 224
200,000,000& * 99.28/100 198,560
= 138,992
= 17,871
Al 41,697
OFHIIE2(A2) NIZEL(YEL=C|LEIL
2) 4,000,000& = 1002 4,000
= 2,800
= 360
Al 840
OFHHIIE2(A2) NBEL (Y=Y At 2 EL
2) 4,000,000& = 1002 4,000
= 2,800
= 360
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Al 90,720
OZANQEOIBRLYE 2HE)
21,000,000& * 1 21,000
J| 10,500
& 3,150
Al 7,350
201 LBt Y| 47,544 7,592 39,952
J| 23,772
== 7,131
Al 16,641
01 AR 2t2l ] 47,544 7,592 39,952
OZ2E2sd % AM™FH 228 S
47,544 000& * 1 47,544
J| 23,772
o= 7,131
Al 16,641
SO THIM X AIAE 2= (2) 772,500 222,500 550,000
Il 480,750
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Al 204,225
201 LBt 9| 72,500 32,000 40,500
J| 50,750
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A X 22 31,000,000& * 1 31,000
J| 21,700
& 2,790
Al 6,510
OMEA USE AURBATR L LTAIL
S X 2el 15,500,000& * 14 15,500
J| 10,850
& 1,395
Al 3,255
O44H SHZQ 22BBANA L &
INE=REONEEE 26,000,000& * 1 26,000
J| 18,200
= 2,340
Al 5,460
402 SI2F 20| & 700,000 0 700,000
J| 430,000
& 81,000
Al 189,000
01 QI2tXE8 X 700,000 0 700,000
OESLA THHEXAAE 2E ALY
400,000,000& * 14l 400,000
J| 280,000
& 36,000
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 84,000
ORMNA 22X ST FIIAL Ha
200,000,000& * 14l 200,000
J| 100,000
< 30,000
Al 70,000
OdgAl Ligtd S X235 HIIAIE e
100,000,000 * 14 100,000
J| 50,000
< 15,000
Al 35,000
HSANEEEFHUIAY(Z) 120,000 170,000 A 50,000
< 36,000
Al 84,000
402 RIZFX20l A 120,000 170,000 A 50,000
< 36,000
Al 84,000
01 RIZERt2E X 120,000 170,000 A 50,000
OHYA HI2SH 24
150,000,000& = 141 % 80/100 120,000
< 36,000
Al 84,000
S MAZ0IE2SH KNI (Z) 9,000 7,000 2,000
= 2,700
Al 6,300
307 glz2tol & 9,000 7,000 2,000
< 2,700
Al 6,300
02 QIZtFAE XS 9,000 7,000 2,000
OSWXZ0l SN (NLEYSL3)
3,000,000& * 14l 3,000
< 900
Al 2,100
O2MXA0 ESH XN (2sRAEES)
6,000,000& * 14! 6,000
< 1,800
Al 4,200
CANE2SMSE 22U NEA(E) 16,500 15,060 1,440
< 4,950
Al 11,550
101 @124 dl 13,800 14,600 A 800
< 4,140
Al 9,660
04 JIZtHZ2XREES 13,800 14,600 A 800
ORstMELE 2Ll XE(ZXNE 23 ) &Al
40,0003 = 1% = 345 13,800
< 4,140
Al 9,660
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29,700
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= M W
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29,700
69,300

= M W

01 I2tXt=2e = 198,000 240,000 A 42,000

247,500,000 = 141 = 80/100 198,000
99,000

29,700
69,300

= Hn

AotESH=MASDAS(2) 100,000 0 100,000
50,000

15,000
35,000

= 0 W

307 21201 & 100,000 0 100,000
50,000

15,000
35,000

= N W

02 2FHEdEES 100,000 0 100,000
O&0 s+l MY S E2EAY
100,000,000 = 1JH A 100,000

50,000
15,000
35,000

= MW

S MG UHEXBEX(E) 3,500 0 3,500
3,500

n

401 AIEHIZ 2 I 3,500 0 3,500
3,500

t

01 A& HI 3,500 0 3,500
Ofts2 UWEXIE &X  3,500,0008 * 14! 3,500
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SEEMH2e 92,200 147,200 A55,000
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Al 48,600
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350,000& = 18 = 128 4,200
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= M
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LEEBIMIBHEA(E) 1,800 7,800 26,000
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= M

HANEES 44,000 35,000 9,000
Ox==& AL XIE 30,000,000& = 14 30,000
9,000
21,000
Ol &M &5, 28 14,000,0008 = 14! 14,000
= 4,000
Al 10,000

= M

402 212t A= 01 & 20,000 0 20,000
6,000
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2x: 280z
Mz HMSAHH (S0 =) (I EHIIE
@2 Jl2&tl (e &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OJI2d8d MRESSHI 2,652
— SASA 7Y 13,000& * 178t x 12& 2,652
OEZ Ay 6,000& * 64 x 179 * 12& 7,344
Odbte4g2 100,000& * 12& 1,200
O A7 50,000& = 12& 600
o272 =44 7,640
— SAMI| 2l (AE") 500,000& * 1CH 500
— Z2lH %2 100,000 * 4CH = 50/100 200
— 2A EUY 200,000 = 53] = 104 1,000
— T2 (EW) E4 200,000 * 53] = 404 4,000
— D2 (Ze) EW 200,0008 * 53] = 104 1,000
—PC =2l 100,000 * 1700 = 20/100 340
— J|IEt %=2lb] 50,000& * 12& 600
OJIEF AFR 22l bl 5,000& = 179 = 12& 1,020
202 04| 68,000 54,040 13,960
01 2LHOHI 68,000 54,040 13,960
O ol 68,000
— 2L o B 20,000& * 179 = 122 * 12& 48,960
— 2204 Hl 80,000& = 179 = 14 19,040
203 AR E= | 3,000 3,000 0
04 2SI L RF=AH| 3,000 3,000 0
ORANBELERFAH| 250,000& = 12& 3,000
204 Z 24 HH| 1,200 1,200 0
01 MM R-HAY| 1,200 1,200 0
OXIALLHAY| (S0 =UE)
100,000& = 1 * 128 1,200




